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AP Microeconomics

Unit 9: Preparing for the AP Exam
*Question order is not consistent across assessments.

Lesson 2: Review and AP Exam Practice
Test
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Lesson 3: Microeconomics Final Essay Exam
Essay Test – Teacher Graded
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At point U, the marginal uilty for consumers is:

O A 50
O B.$75
v® c s
(O b.s25
O E $100
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+/ Question 2

4 points

Anon-ival good is:
1.2 public good.
1. provided by the government.

I used up by a consumer.
IV, free

(O A tandlionly.
(O B. tiandlilonly.
O ¢ Ll andilionly.
O . 1L11,and IV only.

+/(® E. None of these.
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+/ Question 3 4points

A progressive tax is one where:

(O A taxes are paid only by the richest people in an economy.
(O B. ahighincome household pays fewer taxes than a low-income household

/(@) c. ahighincome housshold pays a larger share of their income in taxes than
does a low-income household.

(O . ahighincome household pays more taxes than a low-income household.

(O E. high-and lowrincome households pay the same in taxes.
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For a perfectly competitive firm in the short run, what is the lowest price the firm wil
continue to operate at?

(O A Price equal to total cost

() B. Price equal to average total cost
/(@) C. Price equal to average variable cost

(O . Price equal to marginal revenue

() E. Price equal to marginal cost
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The demand curve is downward sloping due to the income effect and the substitution
effect. The income effect says:

() A. people buy more normal goods when their income increases.
(O B people buy more inferior goods when their income decreases.

/(@) C. higher prices result in a decrease in the purchasing ability of income, and so
less quantity demanded

(O D. lower prices resultin an increase in the purchasing ability of income, and so
greater demand

() E. None of these
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One economie argument in support of public education is:

() A itprovides negative extemnalities.

(O B education should be fairy available to al citizens.
/(@ c. itprovides positive exteralities.

(O . public education keeps youths out of the labor force.

(O E. it's necessary to graduate from high school to receive social security
benefits.
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Three prices are indicated on the vertical axis: A, 8, and C. Which of the following
statements are correct?

1. Price Ais the equilibrium price.
II. Price Bis a price support

Il Price Cwould create a shortage.

O A lonly
O 8. lionly
v @® c. only
(O . 1andlilonly

(O E landilionly
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+/ Question 8 4points ~

Aproductively efficient firm maximizing its profits is:

v@® A
O s
Oec

O o
O E

operating where marginal revenue equals average total cost
operating at the minimum of marginal cost.

operating at different points on the cost curves, depending on which market
structure the firm is in.

operating at the minimum of their average variable cost curve.

operating where marginal cost equals average variable cost.




image9.png
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Economists assume people:

/(@) A. pursue their self-interest
() B. areselfish.
(O . wantto collect as much money as possible.
() D. maximize their benefits.

() E. care only about themselves.
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I an increase in the price of good A results in a decrease in the demand for good B:

/(@ A. Aand Bare complements.
(O B. Aisasubstitute good, and Bis a complement good
() C. Aand Bare substitutes.
(O D. Aisaninferior good, and Bis a substitute good.

(O E. Aisanormal good, and Bis an inferior good.
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Price discrimination is:

®@ 0000

selling different goods to different people depending on their ability to pay.
selling only to consumers who meet certain ethnic or social criteria.
selling the same good to different consumers for the same price.

unfairly selling at a really high price so only the wealthy can afford the
product

selling the same good to different consumers for different prices.
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If demand is elastic, which of the following s least likely to be true?

/(@ A. Consumers spend a small portion of their income on the good.
(O B. There are many substitutes for the good
() C. Anincrease in the price results in a decrease in the total revenue from sales.
(O . The priceis high

() E. Consumers are sensitive to a change in the price of the good
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Most modern economies are:

(O A traditional economic systems.

+/ (® B. amixture of command, capitalist, and traditional economic systems
(O c. government-controlled economies.
(O D. capitalist market systems.

() E. laissez-faire economic systems.
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Today, antitrust legislation is designed to:

() A. break up monopolies.

/@ B. control firms whose anti-competitive behaviors are harming consumers.
(O c. breakup trusts
(O D. setup the role of goverment in regulating natural monopolies

(O E. punish firms that make lots of money.
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If the market price is at point A, what can you expect?

(O A The price will stay at point A

(O B. The price will fall to point 5, then fall even further to point C.

() €. The price will fall to point Cas sellers put their excess inventory on sale.
(O D. The price will fall to point B, then increase again to point A,

/(@ E. The price will fall to point B as sellers put their excess inventory on sale.
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Which of the following industries are characterized by free entry and exit?

1. Perfect competition
11. Monopolistic competition
11l Oligopoly

IV. Monopoly

A lonly

B. land l only

D. Iand Il and Ill only

@)
v®
O ¢ 1andlionly
@)
@)

E. Allindustries have free entry and exit




image17.png
+/ Question 17 4points

Price
2
$1 N
)
50 100 Quantity

Click here for long description

The consumer surplus when the price is $1 equals:

O A s
v @® B. %25
O c. $50
(O D.s75
O E $100
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f an increase in celery harvest technology significantly reduces the cost of harvesting
celery:

(O A the supply will increase and the supply curve will shift to the left.
(O B. the celery supply curve will shift to the left
(O . the demand for celery will increase.

+/ (® D. the supply of celery will increase.

() E. the supply of celery will decrease.
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The supply curve for velvet paintings will shift to the left if:

(O A people stop buying velvet clothes, leading to extra velvet available for
making paintings.

(O B velvet artwork goes out of style.
() C. the price of velvet paintings increases.
(O . velvet Elvis paintings become much more popular.

/(@ E. the price of paint increases.
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The law of diminishing marginal utilty says:

() A. asincome increases, total utility decreases.
() B. as consumption increases, total utility decreases.
() €. asconsumption decreases, total utility increases.

+/(® D. as consumption increases, marginal utility decreases.

() E. as consumption decreases, marginal utility decreases.
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If the price of cable service changes from $20 to $30 a month, what percentage of
current cable users give up their cable serve if the demand is elastic?

(O A Morethan33%
(O B. Morethan 25%
(O €. Morethan66%
/(@ D. Morethan 50%

(O E Morethan 100%
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How does a firmi's market power affect the slope of the derived factor demand curve?

() A More market power means a more positive slope of the factor demand
curve.

() B. More market power means a flatter derived factor demand curve.

() €. More market power means a positive slope, and less means a negative
slope.

() . Itdoesnt

/(8 E. More market power means a stesper derived factor demand curve.
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Whatis a free rider?

(O A Someone who rides public transit at no charge

(O B. Someone who enjoys something without getting into anyone else’s way
/(@ c. Someone who enjoys something without bearing the cost of providing it

(O D. Someone who rides horses in public land provided by the government

() E. None of these
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If the demand for bottled water increases:

() A. the equilibrium price and quantity decrease.

(O B. the equilibrium price increases, and the equilibrium quantity decreases.
/(@ c. the equilibrium price and quantity increase.

() . the equilibrium price decreases, and the equilibrium quantity increases.

(O E. the equilibrium price increases, but the change in equilibrium quantity is
indeterminate.




image25.png
+/ Question 25 4points

Which of the following is ot true? A profit-maximizing monopolist:

(O A isadominant firm.
(O B hasalot of market power.
/(@ c. hasasupply curve.
(O . isthe only seller of a good with no good substitutes.

(O E. produces where marginal revenue equals marginal cost.
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Economic rent is:

() A. income eamed by all resource owners.
() B. income eamed by owners of capital

/(@ C. income eamed by resource owners above the opportunity cost of the
resource.

(O . income earned by owners of land above the opportunity cost of the land.

(O E. rent paid for borrowing money.
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+/ Question 27 4points ~

If the quantity demanded of green nail polish increases a lot and the price barely changes
atall, we can conclude:

/(@) A. the demand for green nail polish s elastic.
() B. there are many substitutes to green nail polish.
(O . green nail polish is very expensive.
(O . the supply of green nail polish is inelastic.

(O E. nothing useful
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PPF
Good 1|

Good 2
The production possibilities frontier above shows points 4, 8, and C. Which is correct?

1. Point Ais an inefficient use of resources,

Il Point Bis an impossible level of production.

L. Point Cis an inefficient use of resources.

IV. Point Bis an efficient use of resources.

(O A onlyl

O B. onlynl

O c. onlyland IV
(@ D. onlyliland IV

(O E Onlylandiv
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Afree good is:

A something that isnit scarce because no one wants it
B. a2 good provided by the government free of charge.
C. something no one wants.

D. something people want that isnit scarce.

E. a contradiction in terms, because no goods are free.
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Which of the following is a marginal cost of going to a baseball game?

(O A Time given up studying for tomorrow's exam

() B. The concert given up because you spent money on the ticket to the ball
game

() C. The game you missed last week because you studied for this exam

+/ (® D. Both time given up studying for tomorrow's exam and the concert given up
because you spent money on the ticket to the ball game are marginal costs,
because each is an additional cost incurred when you go to a ball game.

(O E. None of these are marginal costs, though both time given up studying for
tomorrow's exam and the concert given up because you spent money on the
ticket to the ball game represent opportunity costs.
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The marginal revenue product curve shows:

a positive relationship between the price of a resource and the output it
generates

a positive relationship between the price of a resource and the quantity firms
will want to use.

2 negative relationship between the price of a resource and the output it
generates.

2 negative relationship between the additional revenue an input generates
and the level of output

None of these.
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Click here for long description

This graph shows a firm in long-run equilibrium. This graph most likely characterizes:

/(@ A. afirmin monopolistic competition.
© 8. adominantfirm in an oligopoly.
O ¢ amonopoly.

(O . afirmn perfect competition.

O E afiminacartel
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Shep and Al have a custom cake-decorating business. The chart shows how many cakes
each can bake or decorate in one day, when they perform just one o the other activity.

() A. Shep has a comparative advantage in both baking and icing because he can
do more of both in one day than Al can.

() B. Alhas a comparative advantage in icing because Shep can bake more cakes
than Al can

(O C. Shep has a comparative advantage in baking because he gives up less icing
than Al does when he bakes a cake.

/(8 D. Shep has a comparative advantage in icing because he gives up less baking
than Al does when he bakes a cake.

() E. Alhas an absolute advantage in baking, since he can bake twice as many
cakes as he canice.
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If Al specializes in baking cakes:

() A. Shep should specialize in baking cakes.
(O B. Shep should split his time between baking and icing.

/(@ C. Wecan't determine what Shep should do because it depends on the value of
icing and baking

() D. Alis making a huge mistake and their enterprise will fail

(O E. None of the these.
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The total utiity consumers place on 100 units of the good is:

O A s
O B.$25
O ¢ $50
O p.s75
v @ E $100
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Afactor demand curve will shift to the left if

(O A factor demand increases.
/() B. factor demand decreases.
() C. the price of a complementary factor decreases.
() D. the price decrease of a complementary factor causes demand to decrease.

(O E None of these.
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Allocative inefficiency means:

(O A firms could produce at lower costs than theyre producing at if they.
reallocated their resources.

() B. goods aren't being allocated at a low cost
(O €. goods aren' going to the consumers who value them the most.

/@ D. firms arent producing all goods that consumers value more than the cost of
production.

(O E. resources arent being used by the firms that value them the most




image38.png
+/ Question 38 4 points

Click here for long description

This firm is earning economic profits, since:

() A Pyis greaterthan £,

(O B. point Ais above point C.

() €. demand s tangent to the ATC curve at point 6.

(O D. the firm is producing where MR equals MCat point C.

/(@ E. None of these. This firm is earning normal profits, not positive economic:
profits.
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Which of the following is ot a factor of production?

O A Land
(O B. Human capital
(O c. Physical capital

(O D. Labor

V@ E Money
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The demand curve for orange juice will shift to the right if:

() A. the cost of growing oranges increases.
() B. the price of orange juice decreases

(O C. an advertisement airs showing everyone's favorite athlete drinking apple
juice.

/@ D. the government publishes information showing new health benefits from
drinking orange juice.

(O E. the cost of shipping orange juice decreases.
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Ina monopsonistic labor market

() A aunion never represents the workers.

() B. there's only one seller of labor.

(O €. there's no derived demand for labor.
/(@ D. there's only one buyer of Iabor.

() E. aunion always represents the workers.
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Which of the following is nottrue? A union:

(O A ispart of a bilateral monopoly if the union exists in a monopsonistic labor
market.

/(8 B. represents the interests of all workers, union members or not
(O . will decrease the level of employment in the unionized industry.
(O D. represents the interests of union members.

(O E. increases union-members earnings or job security.
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The government redistributes income:

(O A bytransferring money to lowincome households.
/(8 B. byboth a progressive tax system and income transfers.

() C. byboth aregressive tax system and income transfers
D. by using a progressive tax system.

E. by using a regressive tax system.
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Which of the following is a public good?

() A National parks

() B. Postage stamps
/(@ C. National defense

(O . Library books

(O E. Public education




image45.png
/ Question 45 4points

According to the oligopoly model of the kinked demand curve:

V@ A

afirm expects its price decreases to be matched by other firms, but not ts
price increases.

afirm expects allits price changes to be matched by ts rivals.

a firm expects its price increases to be matched by other firms, but not its
price decreases.

afirm expects its price increases to be matched, and it thinks demand is
much less elastic above the current market price.

afirm thinks demand is much less elastic above the current market price
than below.
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Anincrease in the minimum wage will

() A. cause alabor shortage.
(O B. resuitin higher incomes without a loss of jobs.

/@ C. resultin higher incomes for many and only a few job losses, if labor demand
is inelastic.

(O . resultin higher incomes for many and only a few job losses, i labor demand
is elastic.

(O E. resultin higher incomes for only a few and many job losses, if labor demand
is inelastic.
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If consumers suddenly desire many more temporary tattoos, and at the same time, the
cost of henna, an ingredient in temporary tattoos increases:

(O A the equilibrium price decreases and the equilibrium quantiy increases in the

tattoo market
(O B the equilibrium price and quantity decrease in the tattoo market

/(@) c. the equilibrium price increases, but the change in equilibrium quantity is
indeterminate in the tattoo market.

() . the equilibrium price increases and the equilibrium quantity decreases in the
tattoo market

() E. the equilibrium price and quantity increase in the tattoo market.
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Which of the following industries are characterized by positive economic profitin the
Tong run?

1. Perfect competition
11. Monopolistic competition
11l Oligopoly

IV. Monopoly

(O A All of the industries generate positive economic profitin the long run.
O B. onlyl
(O c. onlyliand il

(@ D. onlyliland IV

O E onyv
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The derived demand for a resource will be more elastic if:

(O A the factor makes up only a small part of the production costs.
() B. there are only a few other ways the resource can be used

/(@ C. the demand for the final good produced with that resource is elastic.
(O . there are few substitutes for the final good produced with that resource.

() E. verylittle time is afforded to demanders to find alternatives.
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Aprice floor:

() A. holds the price below the market clearing price.
/(8 B. creates a surplus by holding the price above the market clearing price.
C. results in an excess demand

D. creates a shortage by holding the price below the market clearing price.

O O O

E. results in an excess supply.
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